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3f¥at 3 AT e / Instructions to the candidate

1. Wt o wdeT YRaH F ®7 7 g T WA Wl At o apdier fRar Smoe

The question paper is in the form of test booklet. All candidates will be assessed on
identical questions.

2. 3R fowe g @ sl # dee A 9fd F AU e v HMAAR IR IR
ITAEY FE FCEN| HedleTeh FleaT A 9 F INTANR Ne & 360 FE qar s & v
&3 /A separate OMR answer sheet with carbon impression is provided to all candidates for

answering. The carbon impression of the OMR sheet will be detached and handed over to
candidate by the invigilator.
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50 gm FEIA dlel Joie A AT FaAT 25000 J &1 IAHT J97 Braar gem?
A bullet of mass S50 gm possess a kinetic energy of 25000 J. What is its velocity?

(a) 1000 m/s (b) 250 m/s
(c) 100 m/s (d 50m/s

mmwmammwmmmwwm

At what temperature the reading of a Fahrenheit thermometer will be double of a
Centigrade thermometer?

(a) -40°F (b) 320°F
(c) 80°F (d) 212°F

@ & @ Fi9 @ R s gfafear &

Which one is a Chemical Reduction Reaction?

(&) TR UErd I e AfPATIT FT / Addition of oxygen to a substance
(b) TF Ugry # §SET g / Removal of hydrogen to a substance

(c) U werl 7 ggiel afFnfad #1r / Addition of hydrogen to a substance
(d) 39Eres 9idfRAT / Decomposition Reaction

forelt 5 @50, Pt a1 u & Taw & A6 99 IS & ¥ Qe
Surface area of a cube of side 5 ¢m is

(@) 100 W.#12 / 100 cm? (b) 150 |.#A2 / 150 cm?2
(c) 125 H.#HR2 / 125 cm? (d) 25d.# 2/ 25 cm?

1°+ 114+ 124 13+ 14+ 15=
(@ 15 (b) 111111
() 5 (d 6
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11.
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J0.0016 F AU T
J0.0016 is
(a) 0.4 (b) 0.0004
() 0.04 d) 4

Rl a1 UREd A g R B 21 9l ©

The perimeter of a semicircle of radius 21 cm is

(@) 108 ¥ /108 cm (b) 87 d.AL /87 cm
) 75¥#H. /75cm (d) 66 H.A. /66cm
Log m~Log n=

(a) Log(mn) (b) mlogn

(¢) nlogm (d) Log({m/n)

«R” T aId T T IS &7 &R

Volume of sphere of radius “R” is
@) 4zR° b (4zR%)/3
© 4zR® @ (zRY/3

Reelt 3iftr o gt & =g o Fw AT 700 HR FoFH HR 10° T TR T
T AT FT 8190 '

The sum of the acute angles of an obtuse triangle is 70° and their difference is
10°. The largest angle is ‘

(&) 110° (b) 105°
(c) 100° | (@) 95°

mmﬁwmmﬂwwmmﬁdaQw,a’lsré“b”,azrrimé“c”%r

Area of four walls of a room of length “a” breadth “b” height “c”
(@) 2a(b+c) (b} 2cla+b)
(c) a+b+c (d) abc
4 01
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12.

13.

@

15.

16.

I 5x -y =0, W& 10x + 2y = 20a ‘4 FT Az FT §
10x + 2y = 20 if 5x —y = 0 value of ‘i is

(@ 2 (b) 3

() 5 (d) 4
Sec’ g -1=

(a) Cos? 6 (b) Sin2 6
{c) O {d) tan26

70 AL TF 140 T WD F TSR A6 fhaer ¥

Find the annular area of the ring whose radii are 70 cm and 140 cm
a) 54000 F.#7.2/54000 cm? (b) 14790 H.H.2/14790 cm?
(c) 4620 H.#A.2/4620 cm? (d) 11550 H.#AN.2/11550 cm?

fFll 1 I aeg & am & 1° G aF Fo F v ST I & oA A
HTERIHAT BIe 38 T Fad §

The quantity of heat which is required to raise the temperature of 1 gram of
substance through 1°C is called

(@) 3[eT 3°AT / Latent heat

(b) TafRrsT FAT / Specific heat
(c) TAERT FAT / Sensible heat
(d) ISHIT AT / Thermal heat

WS a&] ged A fHE FRoT § Rar &

A body floats in a liquid due to

(a) YcITEY &of / Elastic force (b) 3R && / Enter force

() 3cTelld®d &7 / Buoyant force (d) AT & / Inertia force

5 01
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17.

18.

19.

20.

P &g ¥ TF AT FT 3EaT V T araAe RRR W@ W, 3TH &9 3P H F T 39
T & 3T Y fedey AT &Y TaTSar gl

A given amount of gas of volume V has pressure P. The volume at which the
pressure of the gas will become 3P, keeping its temperature constant, is

(a) 3V

(b} V
() V/3
(d) 3 #F @ #F 74 / None of the above

Ww%wﬁqmm%waﬁﬁwﬁaﬁw

At its saturated vapour pressure equal to atmospheric pressure, a liquid
(a) 39 @19 / Boils

(b) TEAT gl 419 / Condenses

(c) OThd 89T / Liquefies

(d) #rer # faafea g / Separates into moles

10 Rr.ar. Zeadt & awg 10 HUA & o1 @ afade § A s S gl

The Kinetic energy of a body of mass 10 Kg moving with a velocity of 10 m/s is
(a} 100 e / Joules (b) 250 Spet / Joules

(c) 500 S[& [ Joules (d) 1000 It / Joules

301‘25111aarw.sﬁﬁn.amﬂaaaimw-mmq&ﬁasﬁaﬁ,wﬁﬁw
muqﬁﬁmw,@w@mmhmamﬂﬁmmmﬁﬁmm
THAT gIETml |

Two metal balls of same size, one made of iron and the other made of aluminium
with their masses 30 kg and 10.5 kg are dropped from a cliff. When they are 10 m
above the ground they have same

(@) <aIUT / Acceleration

(b) HAIT / Momentum

) Tfas a1 / Potential energy
(d) TifasT F&T / Kinetic energy
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21.

22,

23.

24,

25.

HIZT FA A el ol HI AR & el & AT Tohq 3fiser &1 e fmar Smar &7

To sharpen cutting tools with oil stone oil is used.
(a) 35Tl / Diesel

(b) ﬁjTCh??r FT de / Ground nut oil

() #reHEe g / Neatsfoot oil

(d) 20w 40 38T / 20w 40 oil

T U & Jehal HET F AT FEd &7

The inner most part of a tree is

(a) ¥ g3 / True wood (b) ¥9IGS / Sapwood
(c) o1/ Pith (d) §FF / Bask
Rt & spfaw A 7T giar ¥

The natural defect in timber is

(a) &9/ Cup (b)y T&9T / Spring
(c) <faEE / Twist (d) e / Burl

-

TS Ug T Y FEe wlieior & A f AT wher 50

The age of a tree can be known by examining
(a) HETH R / Cambium layer

(b) gFaURR Rer / Annular ring

(c) FHoom Rar / Medullary ring

@ @ g8 / Heart wood

fora 9 F1 I Bier AR omEd o€ gy &9

Name the tree having short trunk and large branches

(a) MR / Shisham (b) <dGR / Deodar
(c) 1Sl / Kail (d) @& / Teak
7 01
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26. TieaTre TEAFR T & 309 g2 da S F4T Heald g?

27.

28,

29,

30.

When cracks develop between adjacent annular rings is called
{a) ®B€ A% / Heart shake (b) FT AF / Cup shake
(c) ¥R 9% / Star shake (d) 3TTAT / Upset

b difeat % uy Rra 93 T gfRIUEar Hflwa gl &)

The wood which had maximum resistance against white ant is

(a) 2Wr# / Shisham (b)) &F / Teak
(c) dref / Sal (d) 9 / Bamboo

deee i ohdl I A HR RRder gl §?

The average weight of sandal wood is

(a) 920 kg/m?3 (b) 785 kg/m?3
(c) 815kg/m?3 (d) 400 kg/m3
féaT & wIfFaag F FAT HROT §?

Foxiness is caused in a timber due to

(a) sz & 31fd oRweadr / Over maturity of timber

(b) $ERUT F R WUT aidrdsT / Bad ventilation during storage
(c) UST &I dsF dgd / Rapid growth of trees

(d) wReTE Hr ATHAT / Access of fungi

e 7 & wlear 7y 95 &7

Which of the following is soft wood

(a) @l / Sal (b) &k / Teak

(c) <2MAHA / Shisham (d) &J8R / Deodar
8
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31.

32.

& S8

34.

U gaelr T A g5 B TS H T FEd §R

A thin sheet or slice of wood is known as

4
(a) dlee / Bpulk (b) TGS / Plywood
(c) R / Veneer (d) FHefdiar / Scantling

fart 7 @ g ggfa gart R & A1 el somm e &2

Which of the following method makes the timber fire resistant?
(a) Ude 9gfa / Abel’s method

(b) IR / Creosoting

(c) TEH 399R / Ascu treatment

(d) dféar / Painting

RIS fREd Ao e §?
Plywood is obtained from

(a) I / Bamboo
(b) &% g5 / Teak wood
(c) @ ST / Common timber

(d) TTATHS & / Structural timber

I @ LR FT ¥ Bl e & AT a9 Fud AvR vge fhr 9 i

Vertical member provided to divide a panel vertically is

(a) I/ Rail (b) ¥TEA / Style
(c) Ffera= / Mullion (d) <&H / Transom
9

01
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35. ﬁﬁmmmﬁmwmﬁmmmﬁﬂﬂmﬁmm?

36.

37.

38.

The machine is used to make square (or) rectangular hole in woed is

(a) TeleR e / Planer machine

(b) HEE AW / Mortising machine
(c) d@s 9T &Y / Wood turning lathe
(d) ffefer 7eMeT / Drilling machine

#F g5 R e AT e wiger @ 3w R S &
The file which is used for quick removal of much wood

(a) I3 WS [ Wood file

(b) WeiE WIS / Flat file

(c) THSTHR WI$el / Triangular file

(d) YT WBIsd / Rasp file

e Rex Yot sae & v fd geua &2

Which timber is most valuable to make pattern?

(a) SdgR/Deodar (b) &ehgs/Teak wood
(c) HEI/Sissoo (d) wErE/Mahogany

The wood preservative “creosote” is derived from
(@) RST IT Piell / Wood or coal

(b) 37T FgAF HIAC / Acidic cupric chromate
(c) T FaREs / Zinc chloride

(d) JeEFraRitraTe/Pentachlorophenol

10
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39. sRSTT 93 & IgTROT &
An example for an exogenous tree is
(a) ¢H/Tack (b) HERI/Mahogany
(c) dR/Bamboo (d) ﬂ_ql'gf_-‘:'/Rosewood
40. d3 IR & FF e # Iz dEa F4y g2

41.

42,

Coarse grit of sand paper grade number is

(a) 60 (b) 120
(c} 220 d) 320

TRy fEer # &9 gl g5+ ST FAT Fhgelldl Yy

A wooden roof which slopes in four directions is called
(a) 9 BR & / Gable end roof

(b) AT BT / Shed roof

() AT B/ Gambrel roof

(@) fec= & / Hipped roof

RgE F WRER R # F A g F g ¥
Direction of grains of successive layers in a plywood is
(@) TS gAY &% FHAWIAY / Parallel to each other

(b) T E@I‘l‘ & WIAT / Normal to each other

() T @Y & 45° / 45° to each other

(d) 3 F ¥ Fis A8l / None of the above

11 01




i

..4 SATISH DHAWAN SPACE CENTRE SHAR

i5ro F1deT / CARPENTER

SET |

43, TOeATcHS 0t & 8T &7 3aua fhaar glar anfge?

44,

45.

46.

The moisture content in structural timber should be

(a) 5% & &H / Less than 5%

(b) 5 to 10%
(c) 10 to 20%
(d) 15 to 25%

aeia U5 9 98 § S 3R 39T 8P
Endoger{ous trees are those which grow

(a) 37X / Inward (b) S / Outward
() FIT / Upward | (d) & / Downward
ot 31 @ Fhorr g 2

Which of the following one is hard wood?

(a) <dgR / Deodar (b) TS / Chir

(c) @HeT / Simal "‘ (d) s / Babul

AT gy vd Wl F R s §

is a chemical extract from the curds of skimmed milk and

ingredients.

(a) WY ¢ / Animal glue

(b) T 9¢ / Casein glue

(c) & 3HeqfAsT 7o / Blood albumin glue

(d) @hicere 79[ / Contact glue

12
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47.

T oo [derde a7 g

is a water solution preservative.

(d)

48. UF eI 18 W 100 cm Fiswr & g soliat % AT Flvam gof 3ugad &7

F3NGIT 38 / Creosote oil

eR / Tar

fieh AT HIAT AWYAT / Zinc or copper napthenate
f&% FaARIBS / Zinc chloride

Name the tool suitable for marking a circle 100 cm radius on a wooden board

(a)
(b)
(c)
(d)

f99r F#UH / Wing compasses

Terer T8hax / Steel scriber
A UiEe / Trammel points
el hieldX / Jenny callipers

49. T # O FiFwr iga TRIEH P

The oil preservative among the following

{3 FalSs / Zinc chloride
AREFTH F&EREs / Sodium fluoride

93d &A% / White arsenic

FIAE / Creosote

50. Wﬁﬁmﬁ%@,%%%mﬁmmmmﬁmm@

Name the equipment used to plane the end side timber without breaking the
edges.

(a)
(c)

TOIfsiaT 4T / Planning trough
e afew / Mitre box

13

(b) féar 915 / Shooting board
(d) &= g% / Bench hook

01
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10.

Ra?gﬁwmawawaaﬁn/mm%mﬁmm, Siel fafayr 3eax RFeq ().
(@), (1), qUT (F) &R gl 39 & TF & SR H/E @1 /Each objective question is provided

with a text and/or figures wherever applicable with multiple answer choices (a), (b), (c)-
and (d). Only one of them is correct.

MNwAR fe W R 7v Fel # o @ 9| Ao Iecri B R $E @ e 6
Fael 5ol IYUAT sAF Sier GIgT FAA B & THA #< /Read the instructions on the OMR sheet

carefully. Use only Blue or Black Ball Point Pen for writing on OMR sheet and marking
your answers.

Tl FegfTss YR F 9t & TE ST 87 A i A g, P 3T A S W AET do;
TAT ek ¥ ©F 3F drer Sweew / All objective type questions carry equal marks of
THREE for a correct answer, ZERO for no answer and minus ONE for a wrong answer.

T g & fafdw 3eeR & W W wied el & AT Smee|
Multiple answers for a question will be regarded as a wrong answer.

& aEgfs wee & & AR F O F F ® T @ A1 7 Rl g, S s e
F Ru av Fvo qu SUgFEd e 7 Torme #FarT &/ Question booklets have been

marked with A or B or C on the right hand top corner, which is mandatory to be written on
the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

A P W T I &g Ufeasr F BT a0 R v 3TN SR OEH §l Ao F FS
oy oflc 3ueresr =& wUS Swal /Space available in the booklet could be used for rough work,
if required. No separate sheet will be provided.

a’rm:rm%ﬁmaga?ras%?rwms‘r,mwmﬁwwaﬁaaﬁlmmma
ad & FHS § g 91g 3 Ff5T weed g w1 / Do not waste time on questions, which are

too difficult for you. You can go on to other questions and come back to the difficult ones
later.

T & T P W (1) WY Rrawe go AR T & S 9ot a9 (2) MTAAR I
gReasT arwdier # dlg & aur Rl ot grema F sl go AT @ of S0/ At the end of

the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances. ‘

e ok ok
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